MB LINE

cmatic B4 R bR s

PNEUMATIC FITTINGS Technopolymer Push-in Fittings

MB 3 5l iR i 323k 18 Fl R EE BT BE (POM)E R GBI , EHR I%  The push-in Fittings of the MB line are made of a Technopolymer belonging to the

E, BE , MRS , MEmEHE , TBEMEESEELMEERHE  Acetal Resins Family (POM) also well known for the dimensional stability offered,

skZ BRI ZE R, stiffness, fatigue and corrosion resistance. These features can bridge the gap be-
tween metal and the traditional plastic materials.




m__

PN 67 = XEHR R R L2 P gn BB
Body and Release Ring Gripping Collet Holding Ring Protection Ring Threaded Screws Seals
FREER A (POM) AlSI 301 454 R RS (POM)  ZEEHIEE (POM) #HA4MUNI EN 12164 CW614N4ES  NBR
Acetal Resin (POM) Stainless steel AlSI 301 Acetal Resin (POM) Acetal Resin (POM) Brass UNI EN 12164 CW614N Nickel Plated NBR

" NEEREC
£ ™

-20°C-70°C  #&K18 bar -99 KPa

(SI%

I .

Mb5x0.8 G1/8 G1/4 G3/8 G1/2 R1/8 R1/4 R3/8 R1/2
4 ° ° ° ° °
C 6 ° ° ° °
% 8 ° ° ° ° ° °
LA 10 ° ° °
12 ° °
14 ° °
AR DATA SHEET
BWKEEEK Recommended tubings:

PA11, PA12, PA6, PERZJ&. PURSEHS (98 Shore A) o
AESNERNE .

+/-0.07 mm , RAEE 10 mm

+/-0.1mm , RRKEED 14mm,

R
RBR%.

78

PA11, PA12, PAB, Polyethylene PE, Polyurethane PU (98 Shore A).
Acceptable Tolerances on the tubings:

+/— 0,07 mm up to @ 10 mm

+/—0,1 mmup to @ 14 mm.

Application fields:
Pneumatic circuits.



BRIAANRE Tubing insertion depth

L
ERDe L
4 134
6 16.3
8 16.5
10 18.5
12 20.3
14 23

25 B ASSEMBLY INSTRUCTIONS

1REREEYE (FEHATCUTERY ) BWIANAEREEER , RAEE 1. Cut the tube square (by means of a hose cutter i.e. our TCUT) making sure that no burrs are

BRERBEEWNER. left and that the tube is not oval.

2 ERBAEL , BRI, 2. Insert the tube into the fitting until it bottoms.

K E R Tube release

BEERERBE , AR EERET, While pressing on the release ring, pull out the tube from the fitting.

—

. EBEER , FRRAERLTEZNSL ; A, FRAEREENR _ Once the tubing is connected to the fitting, make sure that the tubing is not subject
& NEREBRFEREMEIBTZHAE. to any tensile strength and that the min. recommended bending radius stated in the
' tubing section of this catalogue is complied with (see page 333).
RTBEERINANE , EADEIITEZMBRIR. ERERBER To prevent any accidental tube release, no components have to come in touch with
FEAAD , BENE D , TS HEREALE. the release ring and exercise any unwanted pressure on the same. Indeed however lateral, any
REITEN , BSEEATIIHNRIIRE, load on the release ring may cause the tube disconnection.

To tighten threads, please check out our tightening torque chart illustrated at page 6.

79



BERQEEEL Parallel Straight, male
xKH EETe D1 D2 D3 L1 L2 CH1 CH2 g 60
D2 1204 M5 4 M5x0.8 9 8 4 19 - 25 46
Pea 12 06 M5 6 M5x0.8 12 8 4 22 - 25 8.6
CH1
120418 4 G1/8 9 13 5 16.5 9 3 6.1
. 120618 6 G1/8 12 135 5 195 12 4 9
cH2 1206 14 6 G1/4 12 16 6.5 195 12 4 127
par] CH2 120818 8 G1/8 14 13 5 235 13 6 114
ps 120814 8 G1/4 14 16 6.5 215 14 6 135
- 120812 8 G1/2 14 25 8.5 23 14 6 32,6
121014 10 G1/4 16 16 6.5 215 15 8 17.4
121038 10 G3/8 16 20 7 25 16 8 226
121238 12 G3/8 19 20 7 28.5 19 10 28.9
121212 12 G1/2 19 25 85 26.5 19 10 36.1
121438 14 G3/8 2 20 7 325 2 10 -
121412 14 G1/2 2 25 85 325 2 12 s
MRS L Female Straight
D2
_geo. il ERDe D1 D2 D3 L1 L2 CH g 62
130418 4 G1/8 9 13 75 235 9 10
- 130618 6 G18 12 14 75 26 12 15.1
e 1306 14 6 G4 12 16 1 30 12 185
o & 1308 18 8 G1/8 14 13 75 26 14 175
130814 8 G1/4 14 16 1 30 14 20.2
- 131014 10 G1/4 16 16 1 32 16 24.4
131038 10 G3/8 16 20 12 335 16 30.3
D1
D3
BRI gk Parallel Straight, male
i) ERDe D1 D2 D3 L1 L2 CH g &2
120418 4 G1/8 9.7 155 6 205 14 2.32
120618 6 G18 12 155 6 24 14 265
120614 6 G1/4 12 185 8 26 17 4.08
120818 8 G1/8 14 155 6 255 14 2.88
120814 8 G1/4 14 185 8 25 17 3.80
120838 8 G3/8 14 235 9 27 21 5.90
121014 10 G1/4 16 185 8 275 17 3.96
121038 10 G338 16 235 9 275 21 6.20
R R R ERESL Stem Adaptor
KR D1 D2 D3 L1 L2 CH g &2
130418 4 G1/8 155 6 27 14 1.85
130618 6 G1/8 155 6 30 14 2.02
130614 6 G1/4 185 8 335 17 321
130818 8 G1/8 155 6 32 14 212
130814 8 G1/4 185 8 355 17 3.54
130838 8 G3/8 235 9 37 21 5.42
131014 10 G1/4 185 8 375 17 345
131038 10 G3/8 235 9 39 21 5.47

80



EANEEL Union Elbow
e} EREJe D1 L2 RRAY
u 120404 4 97 155 224
' 1406 06 6 12 197 377
. g 140808 8 14 215 485
[ 141010 10 16 235 6.30
® 141212 12 19 27 9.59
! 141414 14 25 3 15.50
D1
ETHE=@E#EL Union Tee
Egid] BHRDe D1 L2 g &0
1504 04 4 97 152 334
15 06 06 6 12 197 5.41
1508 08 8 14 25 7.08
151010 10 16 235 8.83
151212 12 19 27 13.83
151414 14 25 3 21.70
EIRGIEE: NP =—§: S8 Taper Swivelling Elbow Fitting, male
L3 el Efge D1 D2 L1 L2 L3 CH g &2
T 160418 4 RIS 97 75 17 155 10 6.41
% " 1604 14 4 R4 97 1 205 155 14 11.47
= 1606 18 6 RIS 12 75 188 20 12 8.42
16 06 14 6 RIA 12 11 233 20 14 13.60
3 160818 8 RIS 14 75 195 215 12 8.97
- cH 1608 14 8 RIA 14 11 2% 75 14 14.05
1608 38 8 RIS 14 15 245 215 17 18.97
161014 10 RI/A 16 1 %5 24 16 17.28
o 3 w.a_-;g 161038 10 R/8 16 15 265 24 17 21.66
oo 161238 12 R3/8 19 115 285 285 20 32.80
161212 12 RI2 19 14 315 285 2 41.40
161438 14 R38 225 115 295 33 20 34.60
161412 14 RIZ 225 14 325 33 2 43.20
BELEET T RARSENBRAEEEL Extended Swivel Elbow, taper
4 3] E®ge D1 Dz Li L2 Ls CH g8
e 170418 4 RIS 97 75 2 155 10 10.02
§I g 170414 4 R4 97 1 30 155 14 16.10
p!
H— 170618 6 RIB 12 75 33 20 12 1762
1706 14 6 RIA 12 11 378 20 14 2051
170818 8 RIS 14 75 34 N5 12 18.00
5 170814 8 RIA 14 11 85 215 14 20.79
T 170838 8 RIS 14 15 39 N5 17 27.40
o 171014 10 RIA 16 11 42 2 16 36.43
5 171038 10 R/8 16 15 43 2 17 35.05
TLE 3
PI7%E
D1

81



AR EEMRAE T X

L2

Parallel Swivelling Elbow, male

SEEEL

L2

L1

" Byl ERJe D1 D2 L1 L2 L3 CH g 60

1804 M5 4 M5x0.8 9.7 4 15 155 9 460

- 180418 4 G1/8 97 5 15 155 13 7.10

31 = 180414 4 G1/4 97 6.5 17 155 16 1nn

I & 18 06 M5 6 M5x0.8 12 4 153 20 12 7.85

1806 18 6 G1/8 12 5 173 2 12 8.38

CH 1806 14 6 G1/4 12 6.5 193 20 15 12.47

5 180818 8 G1/8 14 5 18 25 12 8.82
1808 14 8 G1/4 14 6.5 20 215 15 12.96

o 180838 8 G3/8 14 7 215 215 20 21.36

181014 10 G1/4 16 6.5 215 24 16 1559

181038 10 G38 16 7 235 24 20 22.83

181238 12 G3/8 19 7 2 285 20 27.21

181212 12 G12 19 85 285 285 20 3491

181438 14 G38 25 7 25 33 20 28.80

181412 14 G2 225 85 295 33 20 36.50

AARMNEREEARNE L Swivelling Extended Elbow Fitting, male, parallel

= 3] B#Ze D1 D2 Lt L2 L3 CH 942

s i 1904 M5 4 M5x0.8 9.7 4 288 155 9 9.10

% a 190418 4 G1/8 97 5 24 155 13 1220

F— H—* 190414 4 G4 97 6.5 26 155 16 13.71

1906 M5 6 M5x0.8 12 4 298 20 13 2081

190618 6 G1/8 12 5 318 20 13 19.56

cH 1906 14 6 G4 12 6.5 338 20 16 2051

190818 8 G1/8 14 5 25 215 13 20.00

N 190814 8 Gl/4 14 6.5 35 215 16 2093

- 190838 8 G38 14 7 38 215 20 29.40
191014 10 G1/4 16 6.5 37 24 16 32.29

01 191038 10 G3/8 16 7 39 24 20 36.76

Swivelling Fitting with Banjo Ring
CH = ®®  HEOe D1 D2 D3 L L2 L3 La CH 962
2004 M5 4 M5x0.8 9.7 97 4 1 19 176 4 5.44
11— 200418 4 G1/8 97 15 5 15 255 19.1 4 12.20
. ! 81 8 2006 M5 6 M5x0.8 12 97 4 11 19 215 4 5.89
- | H— 200618 6 G1/8 12 15 5 15 255 27 4 1279
= 200614 6 G1/4a 12 18 6.5 175 29 243 5 21.82
Zf 200818 8 G1/8 14 15 5 15 %5 23 4 1298
200814 8 G1/4 14 18 6.5 175 29 246 5 22.20
D1 200838 8 G3/8 14 23 7 195 325 265 6 34.86
03 201014 10 G1/4 16 18 6.5 175 29 27 5 2251
201038 10 G38 16 23 7 195 325 285 6 3550
AR EEIRSE TR =& Swivelling Tee, taper

K 13 e E&Qe D1 D2 L1t L2 L3 CH 942
210418 4 RI8 97 75 17 157 10 7.4
]’ || - 210414 4 R4 97 11 205 157 14 13.80
J_ B Bl 74 S 210618 6 RIS 12 75 188 202 12 10.03
2106 14 6 R4 12 11 233 202 14 15.16
210818 8 RIB 14 75 195 217 12 11.20
CH 210814 8 R4 14 1 24 217 14 16.34
210838 8 R38 14 N5 245 27 17 2134
g y 211014 10 RI/4 16 1 255 24 16 19.90
01 P 211038 10 R3/8 16 115 265 24 17 27.00
: 3 211238 12 R3/8 19 15 285 285 20 36.30
211212 12 RI2 19 14 315 285 2 44.80

82



AIAEERSETR =@k Swivelling Tee Fitting, parallel

Bl EXEJe D1 D2 L1 L2 L3 CH g &b

= = 2204 M5 2 M5x08 97 2 148 15.7 9 556

! e 20418 4 G1/8 97 5 15 15.7 13 8.11
, , 31 . 20414 4 G1/4 97 65 17 157 16 1196

I = 2206 M5 6 M5x08 12 4 15.3 202 12 9.15

o ‘ 220618 6 G1/8 12 5 17.3 202 12 979
- (L 220614 6 G1/4 12 65 19.3 202 15 13.58
= E e 220818 8 G1/8 14 5 18 217 12 11.05
220814 8 G1/4 14 65 20 27 15 15.10
N 220838 8 G3/8 14 7 215 217 20 2370
221014 10 G1/4 16 6.5 215 24 16 17.96
221038 10 G3/8 16 7 235 2% 20 25.18
221238 12 G3/8 19 7 2% 285 2 3050
21212 12 G172 19 85 285 285 20 38.10

AAREIRNETHE =@ iEk Lateral Swivelling Tee Fitting, taper
L3

i) ERQe D1 D2 L1 L2 L3 CH g &2

- - 230418 4 R1/8 9.7 75 17 155 10 7.38
a 230414 4 R1/4 97 1 205 155 14 12.60
230618 6 R1/8 12 75 18.8 2 12 10.09
I N 230614 6 R1/4 12 1 233 2 14 15.23
- § = 230818 8 R1/8 14 75 195 215 12 10.85
B 230814 8 R1/4 14 11 2% 215 14 16.21
5 1T 230838 8 R3/8 14 115 25 215 17 2370
- cH 231014 10 R1/4 16 1 255 2% 16 2250
231038 10 R3/8 16 115 265 2% 17 26.70

EINTEE S
DI
D1

A ERAE TR = EiEL Lateral Swivelling Tee Fitting, parallel

3 B3l ERQe D1 D2 L1 L2 L3 CH g &0

2404 M5 4 M5x0.8 97 4 1438 155 9 5.57

) : 240418 4 G1/8 97 5 15 155 13 8.14
9 240414 4 G1/4 97 6.5 17 155 16 13.00
24.06 M5 6 M5x0.8 12 4 153 20 12 10.30

) | 31 N 2406 18 6 G1/8 12 5 173 20 12 9.7
| s 240614 6 G1/4 12 65 193 20 15 13.91
240818 8 G1/8 14 5 18 215 12 10.74
= (L I 240814 8 G1/4 14 65 2 215 15 1473
S | CH 2408 38 8 G3/8 14 7 215 215 20 27.40

. 241014 10 G1/4 165 6.5 215 24 16 20

241038 10 G3/8 165 7 235 24 20 25.09

sk Union
D1
Pelo, ESEid) ER10e BE20e D1 L1 g 62
250404 4 4 9.7 265 2.19
25 06 06 6 6 12 34 3.38
2508 08 8 8 14 355 429
251010 10 10 16 375 5.45
pa 251212 12 12 19 42 7.55
2506 04 6 12 31 2.82
25 08 06 8 6 14 35 4.01
251008 10 8 16 36.5 7.00
251208 12 8 19 42 9.50
_@e2¢ 251210 12 10 19 42 8.60
251414 14 14 225 49 21.70

83



AR

AR

B BREEA ARG

YE Sk

Reducer
Bl EHEZDe D1 D2 L1 g 52
26 04 06 4 6 10 315 1.66
26 04 08 4 8 10 325 1.97
260410 4 10 10 345 3.00
26 06 08 6 8 12 37 2.63
26 06 10 6 10 12 37 3.13
26 06 12 6 12 12 39 3.89
260810 8 10 14 395 3.72
26 08 12 8 12 14 415 438
261012 10 12 16 45 5.32
261014 10 14 225 45 6.20
261214 12 14 225 47 7.10
Reducer
Bl ERJe D1 D2 L1 g 62
2706 04 6 4 12 34 2.12
2708 06 8 6 14 36.5 2.92
Single Banjo Ring
B3l EEPe D1 D2 D3 L1 L2 RRAY
28 04 M5 4 M5 9.7 9.7 10 17.6 1.89
28 04 M5 /R 4 7 97 9.7 10 17.6 2.3
280418 4 1/8 9.7 15 15 19.1 2.92
28 06 M5 /R 6 7 12 97 10 215 3.10
280618 6 1/8 12 15 15 22.7 3.47
280614 6 1/4 12 18 17 243 415
2808 18 8 1/8 14 15 15 23 3.74
280814 8 1/4 14 18 17 246 454
28 08 38 8 3/8 14 23 20 26.5 6.41
281014 10 1/4 16 18 17 27 5.15
2810 38 10 3/8 16 23 20 28.5 8.40
/R =4X Bl F 57 & 175 85 - For flow controls only.
Y Fitting
L B3] ERDe D1 D2 L1 L2 L3 g &2
290404 4 9.7 2.7 28.3 10.7 205 3.52
2906 06 6 12 32 36 13 25 571
2908 08 8 14 32 385 15 29 7.86
291010 10 16 32 40.6 18 345 9.67
) 291212 12 19 32 46 215 405 15.47

84



HREEYREL Tube Y Coupling
Egil BERQPe D1 D2 D3 L1 L2 L3 L4 g &0
300404 4 4 27 97 40 258 107 205 3.78
3004 06 4 6 27 97 43 258 107 205 422
3004 08 4 8 27 97 45 258 107 205 450
30 06 06 6 6 3.2 12 50 329 13 25 6.32
30 08 08 8 8 3.2 14 54 355 15 29 8.73
BEIREGY Bz Threaded Y Fitting
L2 B3t ERDe D1 D2 D3 L1 L2 L3 L4 CH g4
Ho o B N04M5 4 M5x0.8 9.7 27 4 3% 107 205 9 6.47
. 310418 4 G1/8 97 27 5 34 107 205 13 9.04
_ 310414 4 G1/4 97 2.7 6.5 36 10.7 20.5 16 13.37
] | 310618 6 GI/8 12 32 5 41 13 25 13 11.53
g - - @ == 9= 310614 6 GlI/4 12 32 6.5 43 13 25 16 16.15
T 310818 8 GI/8 14 32 5 43 15 29 14 15.94
N I/ 310814 8 GI/4 14 32 6.5 45 15 29 16 18.77
s 310838 8 G3/8 14 3.2 7 47 15 29 2 2774
=
N
BELEEM Extention Piece
. B3t D1 L1 L2 g4
R R 3204 00 4 15 33 0.56
3206 00 6 18 40 127
_ - 3208 00 8 20 45 1.79
e 2 321000 10 22 48 3.09
321200 12 25 54 4.24
321400 14 25 54 4.80
L Plug
B3l D1 L1 g 42
330400 4 18 0.34
_ 3306 00 6 22 0.90
= 3308 00 8 25 126
331000 10 26 1.99
331200 12 40 3.30

. 331400 14 40 4.20
D1

85



a3 Manifold
83 Bl &ER0e D1 L1 L2 WHE g8
L ) 3504 06 4 G1/4 14 11 6 11173
| ‘ < 35 06 05 6 G1/4 155 13 5 104.05
e < 3508 04 8 68 175 16 4 99.34
) %&M;L\kﬂﬂ‘ i R
< I | °J
L1 ‘ L2 De
oREEk Manifold
xKH ER10e ER20e D1 L1 L2 L3 g 62
360604 6 4 12 11 35 59 795
36 08 06 8 6 14 13 41 66 1116
—X ZYRFEE:L Double Y-Coupling
il E1R10e ER20e D1 L1 L2 L3 g 62
43 04 06 4 6 17 38 1 2 27.80
430408 4 8 17 38 1 2% 25.00
MB 44
—X ZYREIRLEL Double Y-Coupling with Threaded Joint Fitting
Do, el ER0e D1 L1 L2 L3 L4 CH g &2
i 440418 4 G185 a1 11 2% 17 32.80
== 440414 4 GI/A 65 43 1 2 17 32.00

L2
Pl
~

86



aiEmHB L Swivelling Cross Fitting

Egi| EEQe D1 L1 L2 g &0
46 0404 4 9.7 14 314 9.20
46 06 06 6 12 17 404 11.85
46 08 08 8 14 195 434 14.12
461010 10 16 23 48 25.80
o
MB 48
FIREAEL Elbow Bulkhead
L
KR ERETe D1 D2 L1 L2 L3gkx CH g 62
m— J o 480404 4 M12x0.75 9.7 15.5 271 6 15 17.98
N gl = 48 06 06 6 M14x1 12 20 33 6 18 32.79
| Al — 48 08 08 8 M16x1 14 215 35.7 8 20 39.56
481010 10 M18x1 16 24 40.3 95 22 52.84
o + (IO K 481212 12 M20x1 19 85 M5 10 2% 7150
3 CH
|
]
~ Qey.
D1
MB 49
TEEEAEL Plug-in Elbow
Egii ERQe D1 D2 L1 L2 g &0
490404 4 4 9.7 215 15.5 175
49 06 06 6 6 12 255 20 3.21
49 08 08 8 8 14 28.5 215 3.80
491010 10 10 16 325 24 6.73
491212 12 12 19 33 28.5 9.51
491414 14 14 225 37 33 11.50

87



EAREEL

MB1OE A LML RERIRIT , BRI —MBELEBEMNERTER , BNERETREEN R,

Press-in Cartridge

The new construction features of the cartridge MB10 allow for one single cartridge version to be assembled in plastic, aluminium as well as brass bodies.

D1
T i) EEDe D+ L1 FRAY
e
1004 00 4 9 145 2.75
‘ ‘ 10 06 00 6 15 165 459
_ 1008 00 8 135 17 6.39
- % 101000 10 155 185 8.32
I ~E Cartridge Seat Drilling Plan
B3l D1 D2 D3 Da L1 L2
4 95 92 3 86 12 32
6 1.7 114 5 108 14 4
8 139 136 7 13 145 4
10 16 157 9 15.1 16 4

D1 +0,05
D2 +0,03 300 %
| ‘\7 @
‘ HATR ZEIE
‘ Drilling Tool Assembly Tool
W DE" | 1
=
e——1]
D3
D4 0,05 it A
N
1 2

1TERREHOGAMS LS ERNTIEARA

2FHFELREAEALNL  BEAEATEHRTER , EEES , XHERE

RTEBRE

ATREERERHANRETR",

1. Drill the cartridge seat, following the instructions given

2. Manually press the cartridge into the seat and by means of the Assembly Tool push it all the

way down until it bottoms ; this will guarantee the proper cartridge assembly.

“Drilling and Assembly Tool” available upon request.

88





